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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)
Name of the

Test: Departmental Test for Evaluation and
est: Applied Research Department (Without| 070
Books)
Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarar@m eusms elsoimd e

Read the following instructions carefully before beginning to answer the
questions.

aleTsaEhsH@ allmLwabss Qam_RGh ey SDE&EIL. S| ]sHamend
SHEUSILONSL LIg.SSHeyLD.

1. This computer based Test contains 40 number of questions in objective
Type.

Anss sl cufld Cgiourang) 40 QsmanGy) cuamsuleons aleTTdsenend
Q& mevaTL_ ).

2. Answer all guestions. Each question carries one mark
simansg aamssEeé@d olmiwefdsad aQaumm ofsmeyb @
LSIICILIETH 2 HL i),

3 In case of doubt, English version is the Final.
cleraseiley FHCH&HL  @EONer sl augeaNd Qar@ésuul Gerer
lenssGen GmiSlimen gy,

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

A5y ellamsaeics @b Qubmister syem uTelaTdgauflss curisenssefled
CoemeuliLiger,  GeGCHEMU  Quew  utedegseufler QNS aHEHLD
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
eflsgmemiugnyiseT seullell cufld Cuieln@ oL weNdsd QSTLRIGLD
e saieluller  Heopuiled  CoTGIMID  NNQMIHN  HEUSTILOTSHL]
Uy &&6)LD.

a) One question will be displayed on the screen at a time.
@Gy GHISHL @ el LL.GCL Haiafly Haopuicd Carsiimib.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display
the remaining time as Time Left. At the beginning of exam, timer will show



Profit are the reward for
@erub @sHarar Geugwog

(A) L[F;]and (B) Labor
e 2 enLpLil
(C) Capital P Organization
PG GENTLD S{EnoLiL

The indifference curve approach was introduced by
FCHIEE euameTGEHTL Iy 6l el GIpenna SiPlpslubhidslwieu

(A) Adam Smith (B) Lionel Robbins
=L b evifls @leoweard rrlleren

(C) Alfred Marshall WU Hicks and Allen
DDl T(H WIrrEeD adl&6v OHMID He068T

Simple random sample can be drawn with help of
gngmyenr oeumiliy wrdfé selluGn@s Comeuurerg)

(A) Slip method W Random number table
gam® FLH wpem JTeRTLD erefr UL g wied

(C) Calculator (1) Logarithm Book
GemTiLILITen DL ENE LGS0

According to NITT Aayog 201516 which state place first in National enrolment ratio
at primary level

2015-16 <yid e Hasd oGurs sidlsmslianiy (NER) geussilaa Hay wremeur
Cerseans cigslen sigliuemL e opseli b audléEh wrhlom g ?

Tamil Nadu (B) Kerala
OB Gaerm
(C) West Bengal (D) Karnataka
Cup@ eumbisrerd &THTL_&D
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5. Which committee was appointed by the planning commission in 1985 with respect to
Local Self Government
1985 <oyib e SLLs @uelamd 2 arerr  srermsd Gsriiurs Bnelus s G
T 7
(A) Balwantrai Mehta Committee

udeubgTTil GssT &P

G.V.K. Rao Committee

G.V.K. greu &

(C) L.M. Singhvi Committee
L.M. flmel @y

(D) Ashok Mehta Committee
2Gera Cwssm G

6. Which Tax replaced multiple indirect tax during 20177
@pdwurelles  sremiulL  ueCeaumpy wepups wllsersg wrpprs 2017 @
Gamembeuyin. L gl eufl erg? '

(A) Sales Tax (B) Customs Duty
eflpuener eul &mg el
( Goods and Service Tax (D) Income Tax
Fna&@ wHmb GCeael cufl GU(HLOTET QUi
7. When a person lives below the minimum subsistence level he 1s said to be in
poverty.

@@ BUT Geoppsuls earpaunsTy Blawéd &6 b Gurg HeuT
augienoudiedr eurpeists gmpsuGSng.

Absolute (B) Relative
(P(LpERLOWITET . &b
(C) Abstract (D) None
F(H&HSLD FgILb @eane
8. The most preferred diagram to represent the components of the variable
@ wrplller LeGam FmmpEme aSlaTds LweTLRED GL b
(A) Line Diagram (B) Bar Diagram
Gar® euenyuLLD UL e euenTLIL LD
Pie Chart (D) Pictogram
@Il L euenTUL_LD 2 (Heu edlen&aLiLil_Lb
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10.

11.

12.

13.

Which of the following is the first step in starting the Research process?
STTWES QFwed (papews Qs ki@Geadld Ppso Uiy erg ?

(A) Searching sources of information

fssene e NglughsTar sseualer ysrrmisaner GCa{Heug
(B) Survey of related literature

ey Aasriryentw @aosdwutisamer CaHigH
V Identification of problem

Sesemed seamLHlge

(D) Searching for solution to the problem
Gyseemend@ Sieneu Co{Hsd

Population census is an example of ————— research.
D&&ET QgTens HeamsbapElL aeamusHE @ 2-STTRTD —— Y TTLFS
GA/ Survey (B) Empirical
samTaGasRL Si@lueuidluiman
{(C) Clinical (D) None of the above
G Iul N TR JHID @evenay

The original source from the researcher collects information is
g rriFFlurert gaeued GeasNa@GD ppa YETTHIGET a6l

M Primary Source (B) Secondary Source
paeann Hlena L ETrhiseT @rarLmb Hlene s TrniSeT
(C) Both (D) None of these
@ reRT(Hib JGID Febeney

Which of the following is not a characteristic of Land?
Epsaam_eubnier argl Blogdar Aprifucdyy e ?

(A) It is limited supply Mt 1s Mobile
Genm ety @uRIEGD SemenLenL iLig
(C) Gaft of nature (D) Heterogeneous
Pupensuler Lfle Lieauan &L I (RID

Profit of a firm 1s obtained when
eriGung Bimieuemd @erud QuD Wpiguybd

4) TR<TC ®) TR-MC
W TR > TC ©) TR=TC

5 028/DM/24
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14.  Tertiary sector is also called as ——— Sector.
CPETDITD i) ———m——— GTaaYD BN PESILGEDG.
Service (B) Income
Geenau QU(RLDTGTLD
(C) Industrial (D) Production
Agmpled 2 LSS

15. The Planning commission of India defined poverty on the basis of
@ndwug S s@w Thenamu @6 BglumLuld euamTunSE eTeng).

(A) Income
GU(THLOTEITLD

(B) Consumption
Bi&Tay

@ Calorie Intake of food

2 ameyll Gumper eped Gumib &Gamdl
(D) Employment

Ceuenaaumiiciy

16. There was plan holidays in India from
@ndluraier AL Hapery Sefldasiul L srosl b

W 1966 — 69 (B) 1961 to 63
(©) 1980 -84 (D) 2002 to 2004

17.  The author of Scarcity definition is
upprEGaD @lassansdler <, flwir

(A) Adam Smith (B) Samuelson
LD el FrpGaudger

(C) Alfred Marshall M Lionel Robbins
DS WmiTad @euwiered gmbleen

18. Median can be located graphically with the help of
Qe flene enreney Weeund cuanyuL SHle epeb semmdadll (pigub

(A) Histogram V Ogives
LTeue @eeuausliLL PEnGEL

(C) Bar Diagram (D) Scatter Diagram
Ll @l eueyliuLLD S eflarssliiL b

028/DM/24 6



19.

21.

22.

Production means

o HugH eremLIg

(A) Destruction of Utility
Lwerumigem jfley

(B) Creation of Exchange Value
omHHI Sy
Creation of utilities
LILIGTITL @Dl 2 (heuT&&HSeD

(D} Profit
@eruibd

A Firm can achieve equilibrium when its
apbleanewutie qm Hlmeuannd swflenas Gumib

(4) MC=AC & MC=MR
(©) MR=AR (D) MR=AC

Necessaries, comforts and luxuries are
@earPluebUTEg, euFdl, DL LT LT RIS eTeLg)

(A) Classification of Service
Cranausanem auansL1u([HSaeug)

(B) Classification of utility
LG 1q 66T QuansliLI(H&gIaug)
Classification of wants
puLBismer ausiILHSS a8

(D) None of the above
JEib Gldame

— refers to the rate of death occurring per thousand new born babies.
Wl GnéEih GubamssEssE Gniiy eigb aearlg

(A) Natality

Sy
(B) Mortality

2 W8(mie Gy

Infant Mortality

Gupos Ips@b Gurg Gopa Souy
(D) Death rate

@miiy &g

7 028/DM/24
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23. The difference between NNP and NDP 1s

Barprl (@ o husdé@n Hlar 2aer_ @ e pusfash Qe GCu o drer Caumiumrearg
(A) Depreciation

Cawibreid
(B) Current transfer from rest of the world

2 eodlen Gpuu@daafledmbg HLUL WwIHEY
(C) Indirect tax

anmps euifl

Net factor income from abroad
QeuetiprBsaiadlmbg eumb Hlararyent eumeum

24.  The rnethod of evaluating a completed scheme is called
geupp b wHIEE wenp erarug,
(A) Ex ante Evaluation
S Qargs wdHuSGapep
(y. Ex post Evaluation
S ey wHuIHeperp
(C) Concurrent Evaluation
o Lo Blapdie wduShHopen
(D) Logical Evaluation
ghgafdlurs wHSHopan

25. Who is the chairman of the 15t Finance commission?
udlemarbareug Bl enemuisslen sepeeurm

(A) Ramesh Chand M K. Singh
rGweiy shs N.K. &
(C)  Y.V. Reddy (D) Ashok Lahiri
Y.V. Qptog 2Gars e
26. The Economy of Tamilnadu is the ———— largest and —————— most
populated state in India.
SWOPHT g er Qummerngrrd @pdHwireflen —————— Wlsd Guflu wHmd
3ifla w&seT Clama  wrlawmeLb.
(A 12th and 7th (B) 13th and 5t
12qug whmib Teugy 136ug wHmib deug
2nd and Gtk (D) 10th and 14tk
2asg) DHMID Geug) 106ug) wpmb 14eug

028/DM/24 8



27.

29.

31.

The growth target of the 12th five year plan of India is
12eug) ghsran® Sisdler auerisdl QobE ———— 35 QGH53
(A) 7.8% B) 7%

7 8% (D) 8.5%

The concept of consumer’s surplus is associated with
B&TGaTT TFFD eTamD S(HESIL 6 QFTL T enL e

(A) Adam Smith M/Iarshall
LD euflG OTTE

(C) Lionel Robbins (D) Ricardo
Geweard rrdemen AasraGor

The indifference curve are
FGCHTEE euameTGCaET(HEHET

(A) Vertical (B) Horizontal
Qem@deis Car@dser L &eas Gar@ser
(C) Positively sloped WNegatively sloped
Copmoaps sfleyepwig cipens FfejanLwig
Wage is an example for ————— cost of production.
el ——— Ce@aéE TS mELh.
(A) Fixed ¥V ariable
DT WOTmLD
(C) Marginal - (D) Opportunity
@mnd flenq GuUmILILY

Price leadership is the attribute of
Hene gaeenin &g GEramL g

(A) Perfect competition (B) Monopoly
BlenmeyiGumig pHmtenn
y Oligopoly (D) Monopolistic Competition
SeoGaomi apdmfanwo aphmenownert Gumig
9 028/DM/24
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32. A scientific study on the characteristic of population is
wésaT Qgransuiien @uidLsamert UHHw Melwdffurer <y uiey

(A) Topography M)emography
@ senwiwd &EET Glgrensushuicd
(C) Geography (D) Philosophy
yeflullwed SSg)eueuic

33.  Who among the following propagated Gandhian Economic thinking?
anpAw Qummearngrs dpseansamear Qe hg) euedlwymiduieut wmi?

(A) Jawaharlal Nehru (B) V.K.R.V.Rao
speuamiremed G V.K.R.V. gméu

y J.C. Kumarappa (D) AK. Sen
J.C. @wraur A K. Qsén

34. The planning commission was set up in the year
UL &G SDWSHUILLL &R

W 1950 B) 1955

(C) 1960 (D) 1952

35. The 14 banks were nationalized in the year
eThg e b 14 ecutidlaer GCadlwbubrasiiul L g

(A) 1935 (B) 1956

&"1969 (D) 1959

36. NDP=
NDP =
(A) GDP + Depreciation (B) GNP - Depreciation
GDP + Gauiwirerd GNP - Gauinrend
GDP — Depreciation (D) GDP x Depreciation
GDP - Gzuiwramn GDP x Ggunnramnd

028/DM/24 10



37.

38.

39.

40.

Who is regarded as father of modern macro economics?
pefien Guflued Qummeludien gheng aer BePESLILIE LT

(A) Adam Smith (
LD evllg
(C) Raghar Frischs

Trgent (9 rge

(D) Karl Marx

STTeH OTTHE

A steady increase in general price level is termed as

Qurgieuner efleeuller QaTi T 2 witene GMUAGL &HSS

(A) Whole sale price index (B)
Quwrgs eflae @GMuii
inflation D)
LigTel&&Lb

Who 1is referred as father of capitalism?

cpgeraflggougdlen ghens eTam DenPdELfHUGT

Adam Smith (B)
<L b cuilld

{(C) Thackeray (D)
s5&Gai

The Average income of the country is
(% BITL g 6or gyra GU(HLOMGITLD eTEsLIG)

(A) Personal Income
SeflBUMT GU(HLMETLD

(C) Inflation Rate (D)
LenTelss aigb

11

L&D,
Business cycle
aunenflug @l

National Income
Caflw eumeun

Kar]l Marx
ST DTTHE
Keynes
Setren

~[Bﬁler Capita Income

Fe@6iF GU(HLOTETLD

Disposable Income
GeellL_&gn gl QHLOTETLD

028/DM/24
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
" DEPARTMENT ‘

(Without Books) | | ‘
Maximum Time : 1_.3'0 hours ' - | Maximum Marks : 60

IMPORTANT INSTR UCTIONS-

: DESCRIPTIVE TYPE
sﬂllﬂsurrsvr elenwefl& @b auens eflennggnet

Read the followmg instructions carefully before begmnmg to answer the questmns
aﬁ]srrrra;&@a;@ e wellés Qg,rrl_,rﬁj@m (pemyy &g}&&:mn_ &ﬁlmmgﬁmm SQUGTLONG Lig S&@LD.

1. Answers in excess of the prescribed number of questions -appearin'g at the end of the

answer book will not be valued.

Gﬁismi_asamrr @;ﬁlu&l._@enm Grswrmﬂasa)asa;@ aﬁ&mm m@;ﬂuﬂ@uéﬂm aﬁlml_gyraﬂm @@Jﬁuﬂw
2 gTar a@a; eraimentigenau eoman aflenLaar mﬁuﬁ@ Qe ng. -

2. In case of doub.‘_c, E‘_nglish.version is the final.
| clermasaiic sECsE U ghdo agelld Ast@asiu Qe olamssGa @gjgurrsmg,j.
‘ PART-1 =
I -Write short ﬁotes on th-eEIGHT of the .follow'ing': ' o (8 x3= 24) -
'gtll@ G&ﬁmﬁ]&@é@ uﬁsus;ﬂé;&.éqﬂ) T
1. . Wh_at‘is Absolute po_ve.fty?_
- VY @J@]GU)ID Grdsrg)rrsb' Grebresr? |

2. What is Per Caplta Income‘?

§)GDH' E’M@LDIT@TLD GTQT'IIJ[TGU GTGUT@T?

[Turn over



10.

IL

How many methods are there to compute National Income?

B auBuirearsas Grg,gmem culflsefled aé_emé:é]l;sbrrr.b-? )

What are the functions of Central Bank? o

Lng,ﬁu curbidluSlen Q&@Cburr@a;smm @,ff)]ﬁﬁh_mm.

The marks of 10 students in a class are given below calculate Ar1thmet1c Mean. -

40, 45, 60, 65, 60 50, 45, 30, 50, 55

em a@udd 2dmer 10 wrameuiseler bALGLIGTSET %Gg} G]asrr@&sasuuL@Grrmm Fatl

- grmeflews sensdhs.

40,45,60,65,60,50,45,30,50,55

~ What is project life cycle?.

B eunpbens a';gg;i)eﬂ GTEMPDITE) CTEAa ?

What are the function of Entrepreneur?

QAgmBé apepenGoumilair I_Ii'EJ@')‘ WITEn@E ?

Define Crop Pattern.

Ll wpeppenw éjmgu_lg}ésa;mm'.

Define Unemployment.

Ceuemarufemanio TaTLMS c’;ﬁla.nﬂésa;sﬁm._ o

- Define Budget.

s_.rL@@t.L@nL Gusbr,rmggé.aémlb.

" PART-1I
Answe;' any THREE of the followririg :

| aGggnb .gyasi'srgj Gasehsﬂ&@és@ uglevefl dmeytb :

Explain Sampling frame.

wrd s sefuiyr L gwd ubHb chlend@s.

028/DM/24 | 2
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2. Explain various methods of Data collection. -

‘ g)qm‘(geesrﬂuq ud}@mgm apamer efleréseyb. '

3. Explam rules of tabulatlon :
é){L..LQJGmsmuu@\gg,eSlm aﬂﬁ,l@pmmam wrenal ?:

4. What are the functmn of Commercial bank‘?_

' eJasuﬂa; mmeﬁ&aﬂm umﬂesmm e&]erra@a;

5. Distinguish between total and marginal utlhty -
N Quorgsl uti_tdrrgrr@, Aodf@ar LwueuTd Gmr_mu@g'@as.

PART III

TIL ,_Answer any THREE of the following : S - (3 x 7=21) B
o erg,@Jm.gy:mgj Gamsﬁ!&@a@ uﬁa\)aﬂ&aa;m : |

1. Explaln the features of Perfect Competition.
- gﬁlmmmu Gum_ig uQer @u_lmqa;anerr cflarssmayib.

2. _Explain ab'out tjrpes of Sampling. ,
wrdfl senflcnder cuamssmer LD oflamds s

3. Elucidate the steps to check rapid growth of population.

ésaThsTMs aueTTdflanu slQUUBSSID euflsear wreneu?

4. Whatare the basic characteristics of Underdeveloped countries?

ﬂﬁgfﬁ-‘@m ,"f»ff@&iﬂﬂﬁﬁf éfl,muﬁlu;djqa;m wreneu ?”

5. * Explaini in br1ef about the followmg

(a) Dear Money Policy

() Cheap Money Policy

(<31) ee{@smmpusmés Qardrens

(=) welaylivams Caratens UbH efarsEs.
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